


Part 2 OE761−3A-030-1

Discriminability of colours with 20 hues (Yes/No decision)

There are four elementary hues on each page: Red
R, Yellow J (=french Jaune), Green G, and Blue B.
Input data 1 0 0 should produce Red R.
Input data 0 1 0 should produce Green G.
Input data 0 0 1 should produce Blue B.
Input data 1 1 0 should produce Yellow J.
Four hue steps are between:
Red R and Yellow J, Yellow J and Green G,
Green G and Blue B, and Blue B and Red R.
This test uses a hue circle with 20 hues.
All 20 hues should be distinguishable.
For this test it is not necessary:
1. All 19 differences are visually equal.
2. Elementary hues locate at 00, 05, 10, and 15.

Are all 20 colours of the 20 hues distinguishable? underline:  Yes/No
Only in case of "No":

The colours of the two hue steps no. (e. g. 00 and 01) ............... are not distinguishable 
The colours of the two hue steps no. (e. g. 14 and 15) ............... are not distinguishable 
The colours of the two hue steps no. (e. g. 15 and 16) ............... are not distinguishable 
List other pairs: ........ 
Result: Of the 19 hue differences are (e.g. 18) ......... differences visible

Layout example: discriminability of colours with 20 hues
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OE761−3A-030-2: File: Measure unknown; Device: Device unknown; Date: Date unknown

N  0,0 0,25 0,50 0,75 1,00  W

N 0,00

0,25

0,50

0,75

W 1,00

w*’output
w’*output

w*input

For linearized output of the 16 grey steps of Picture A7-030-2

’* (dash-star) coordinates to reach
the linearized output with the real
display reflection in office room;
lighter (positiv P) output

w’*
output

 = [w*
input

] 1.00

*’ (star-dash) coordinates
of real output with real
display reflection in office room;
darker (negativ N) output

w*’
output

 = [w*
input

] 1.00





Part 2 OE761−3A-031-1

Discriminability of colours with 20 hues (Yes/No decision)

There are four elementary hues on each page: Red
R, Yellow J (=french Jaune), Green G, and Blue B.
Input data 1 0 0 should produce Red R.
Input data 0 1 0 should produce Green G.
Input data 0 0 1 should produce Blue B.
Input data 1 1 0 should produce Yellow J.
Four hue steps are between:
Red R and Yellow J, Yellow J and Green G,
Green G and Blue B, and Blue B and Red R.
This test uses a hue circle with 20 hues.
All 20 hues should be distinguishable.
For this test it is not necessary:
1. All 19 differences are visually equal.
2. Elementary hues locate at 00, 05, 10, and 15.

Are all 20 colours of the 20 hues distinguishable? underline:  Yes/No
Only in case of "No":

The colours of the two hue steps no. (e. g. 00 and 01) ............... are not distinguishable 
The colours of the two hue steps no. (e. g. 14 and 15) ............... are not distinguishable 
The colours of the two hue steps no. (e. g. 15 and 16) ............... are not distinguishable 
List other pairs: ........ 
Result: Of the 19 hue differences are (e.g. 18) ......... differences visible

Layout example: discriminability of colours with 20 hues
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OE761−3A-031-2: File: Measure unknown; Device: Device unknown; Date: Date unknown

N  0,0 0,25 0,50 0,75 1,00  W

N 0,00
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W 1,00

w*’output
w’*output

w*input

For linearized output of the 16 grey steps of Picture A7-031-2

’* (dash-star) coordinates to reach
the linearized output with the real
display reflection in office room;
lighter (positiv P) output

w’*
output

 = [w*
input

] 1.00

*’ (star-dash) coordinates
of real output with real
display reflection in office room;
darker (negativ N) output

w*’
output

 = [w*
input

] 1.00





Part 2 OE761−3A-032-1

Discriminability of colours with 20 hues (Yes/No decision)

There are four elementary hues on each page: Red
R, Yellow J (=french Jaune), Green G, and Blue B.
Input data 1 0 0 should produce Red R.
Input data 0 1 0 should produce Green G.
Input data 0 0 1 should produce Blue B.
Input data 1 1 0 should produce Yellow J.
Four hue steps are between:
Red R and Yellow J, Yellow J and Green G,
Green G and Blue B, and Blue B and Red R.
This test uses a hue circle with 20 hues.
All 20 hues should be distinguishable.
For this test it is not necessary:
1. All 19 differences are visually equal.
2. Elementary hues locate at 00, 05, 10, and 15.

Are all 20 colours of the 20 hues distinguishable? underline:  Yes/No
Only in case of "No":

The colours of the two hue steps no. (e. g. 00 and 01) ............... are not distinguishable 
The colours of the two hue steps no. (e. g. 14 and 15) ............... are not distinguishable 
The colours of the two hue steps no. (e. g. 15 and 16) ............... are not distinguishable 
List other pairs: ........ 
Result: Of the 19 hue differences are (e.g. 18) ......... differences visible

Layout example: discriminability of colours with 20 hues
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OE761−3A-032-2: File: Measure unknown; Device: Device unknown; Date: Date unknown

N  0,0 0,25 0,50 0,75 1,00  W

N 0,00
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w*’output
w’*output

w*input

For linearized output of the 16 grey steps of Picture A7-032-2

’* (dash-star) coordinates to reach
the linearized output with the real
display reflection in office room;
lighter (positiv P) output

w’*
output

 = [w*
input

] 1.00

*’ (star-dash) coordinates
of real output with real
display reflection in office room;
darker (negativ N) output

w*’
output

 = [w*
input

] 1.00





Part 2 OE761−3A-033-1

Discriminability of colours with 20 hues (Yes/No decision)

There are four elementary hues on each page: Red
R, Yellow J (=french Jaune), Green G, and Blue B.
Input data 1 0 0 should produce Red R.
Input data 0 1 0 should produce Green G.
Input data 0 0 1 should produce Blue B.
Input data 1 1 0 should produce Yellow J.
Four hue steps are between:
Red R and Yellow J, Yellow J and Green G,
Green G and Blue B, and Blue B and Red R.
This test uses a hue circle with 20 hues.
All 20 hues should be distinguishable.
For this test it is not necessary:
1. All 19 differences are visually equal.
2. Elementary hues locate at 00, 05, 10, and 15.

Are all 20 colours of the 20 hues distinguishable? underline:  Yes/No
Only in case of "No":

The colours of the two hue steps no. (e. g. 00 and 01) ............... are not distinguishable 
The colours of the two hue steps no. (e. g. 14 and 15) ............... are not distinguishable 
The colours of the two hue steps no. (e. g. 15 and 16) ............... are not distinguishable 
List other pairs: ........ 
Result: Of the 19 hue differences are (e.g. 18) ......... differences visible

Layout example: discriminability of colours with 20 hues
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OE761−3A-033-2: File: Measure unknown; Device: Device unknown; Date: Date unknown

N  0,0 0,25 0,50 0,75 1,00  W
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w’*output

w*input

For linearized output of the 16 grey steps of Picture A7-033-2

’* (dash-star) coordinates to reach
the linearized output with the real
display reflection in office room;
lighter (positiv P) output

w’*
output

 = [w*
input

] 1.00

*’ (star-dash) coordinates
of real output with real
display reflection in office room;
darker (negativ N) output

w*’
output

 = [w*
input

] 1.00





Part 2 OE761−3A-034-1

Discriminability of colours with 20 hues (Yes/No decision)

There are four elementary hues on each page: Red
R, Yellow J (=french Jaune), Green G, and Blue B.
Input data 1 0 0 should produce Red R.
Input data 0 1 0 should produce Green G.
Input data 0 0 1 should produce Blue B.
Input data 1 1 0 should produce Yellow J.
Four hue steps are between:
Red R and Yellow J, Yellow J and Green G,
Green G and Blue B, and Blue B and Red R.
This test uses a hue circle with 20 hues.
All 20 hues should be distinguishable.
For this test it is not necessary:
1. All 19 differences are visually equal.
2. Elementary hues locate at 00, 05, 10, and 15.

Are all 20 colours of the 20 hues distinguishable? underline:  Yes/No
Only in case of "No":

The colours of the two hue steps no. (e. g. 00 and 01) ............... are not distinguishable 
The colours of the two hue steps no. (e. g. 14 and 15) ............... are not distinguishable 
The colours of the two hue steps no. (e. g. 15 and 16) ............... are not distinguishable 
List other pairs: ........ 
Result: Of the 19 hue differences are (e.g. 18) ......... differences visible

Layout example: discriminability of colours with 20 hues
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OE761−3A-034-2: File: Measure unknown; Device: Device unknown; Date: Date unknown

N  0,0 0,25 0,50 0,75 1,00  W
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w*’output
w’*output

w*input

For linearized output of the 16 grey steps of Picture A7-034-2

’* (dash-star) coordinates to reach
the linearized output with the real
display reflection in office room;
lighter (positiv P) output

w’*
output

 = [w*
input

] 1.00

*’ (star-dash) coordinates
of real output with real
display reflection in office room;
darker (negativ N) output

w*’
output

 = [w*
input

] 1.00





Part 2 OE761−3A-035-1

Discriminability of colours with 20 hues (Yes/No decision)

There are four elementary hues on each page: Red
R, Yellow J (=french Jaune), Green G, and Blue B.
Input data 1 0 0 should produce Red R.
Input data 0 1 0 should produce Green G.
Input data 0 0 1 should produce Blue B.
Input data 1 1 0 should produce Yellow J.
Four hue steps are between:
Red R and Yellow J, Yellow J and Green G,
Green G and Blue B, and Blue B and Red R.
This test uses a hue circle with 20 hues.
All 20 hues should be distinguishable.
For this test it is not necessary:
1. All 19 differences are visually equal.
2. Elementary hues locate at 00, 05, 10, and 15.

Are all 20 colours of the 20 hues distinguishable? underline:  Yes/No
Only in case of "No":

The colours of the two hue steps no. (e. g. 00 and 01) ............... are not distinguishable 
The colours of the two hue steps no. (e. g. 14 and 15) ............... are not distinguishable 
The colours of the two hue steps no. (e. g. 15 and 16) ............... are not distinguishable 
List other pairs: ........ 
Result: Of the 19 hue differences are (e.g. 18) ......... differences visible

Layout example: discriminability of colours with 20 hues
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OE761−3A-035-2: File: Measure unknown; Device: Device unknown; Date: Date unknown

N  0,0 0,25 0,50 0,75 1,00  W
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w*’output
w’*output

w*input

For linearized output of the 16 grey steps of Picture A7-035-2

’* (dash-star) coordinates to reach
the linearized output with the real
display reflection in office room;
lighter (positiv P) output

w’*
output

 = [w*
input

] 1.00

*’ (star-dash) coordinates
of real output with real
display reflection in office room;
darker (negativ N) output

w*’
output

 = [w*
input

] 1.00





Part 2 OE761−3A-036-1

Discriminability of colours with 20 hues (Yes/No decision)

There are four elementary hues on each page: Red
R, Yellow J (=french Jaune), Green G, and Blue B.
Input data 1 0 0 should produce Red R.
Input data 0 1 0 should produce Green G.
Input data 0 0 1 should produce Blue B.
Input data 1 1 0 should produce Yellow J.
Four hue steps are between:
Red R and Yellow J, Yellow J and Green G,
Green G and Blue B, and Blue B and Red R.
This test uses a hue circle with 20 hues.
All 20 hues should be distinguishable.
For this test it is not necessary:
1. All 19 differences are visually equal.
2. Elementary hues locate at 00, 05, 10, and 15.

Are all 20 colours of the 20 hues distinguishable? underline:  Yes/No
Only in case of "No":

The colours of the two hue steps no. (e. g. 00 and 01) ............... are not distinguishable 
The colours of the two hue steps no. (e. g. 14 and 15) ............... are not distinguishable 
The colours of the two hue steps no. (e. g. 15 and 16) ............... are not distinguishable 
List other pairs: ........ 
Result: Of the 19 hue differences are (e.g. 18) ......... differences visible

Layout example: discriminability of colours with 20 hues
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OE761−3A-036-2: File: Measure unknown; Device: Device unknown; Date: Date unknown

N  0,0 0,25 0,50 0,75 1,00  W
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w*input

For linearized output of the 16 grey steps of Picture A7-036-2

’* (dash-star) coordinates to reach
the linearized output with the real
display reflection in office room;
lighter (positiv P) output

w’*
output

 = [w*
input

] 1.00

*’ (star-dash) coordinates
of real output with real
display reflection in office room;
darker (negativ N) output

w*’
output

 = [w*
input

] 1.00





Part 2 OE761−3A-037-1

Discriminability of colours with 20 hues (Yes/No decision)

There are four elementary hues on each page: Red
R, Yellow J (=french Jaune), Green G, and Blue B.
Input data 1 0 0 should produce Red R.
Input data 0 1 0 should produce Green G.
Input data 0 0 1 should produce Blue B.
Input data 1 1 0 should produce Yellow J.
Four hue steps are between:
Red R and Yellow J, Yellow J and Green G,
Green G and Blue B, and Blue B and Red R.
This test uses a hue circle with 20 hues.
All 20 hues should be distinguishable.
For this test it is not necessary:
1. All 19 differences are visually equal.
2. Elementary hues locate at 00, 05, 10, and 15.

Are all 20 colours of the 20 hues distinguishable? underline:  Yes/No
Only in case of "No":

The colours of the two hue steps no. (e. g. 00 and 01) ............... are not distinguishable 
The colours of the two hue steps no. (e. g. 14 and 15) ............... are not distinguishable 
The colours of the two hue steps no. (e. g. 15 and 16) ............... are not distinguishable 
List other pairs: ........ 
Result: Of the 19 hue differences are (e.g. 18) ......... differences visible

Layout example: discriminability of colours with 20 hues
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OE761−3A-037-2: File: Measure unknown; Device: Device unknown; Date: Date unknown
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N 0,00

0,25

0,50

0,75

W 1,00

w*’output
w’*output

w*input

For linearized output of the 16 grey steps of Picture A7-037-2

’* (dash-star) coordinates to reach
the linearized output with the real
display reflection in office room;
lighter (positiv P) output

w’*
output

 = [w*
input

] 1.00

*’ (star-dash) coordinates
of real output with real
display reflection in office room;
darker (negativ N) output

w*’
output

 = [w*
input

] 1.00


